EAGRAROBREERT — 2 N— ABISH —F 20195127322 (H) 5SEER##H8H

el S %ok REEF 35T ER EEDE R
[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 8 4 3 :750,000 @ 5 & :500,000 A
B\ BB BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
. N =Y :55. -12-12- . . HAff%EE (FXR)
115l10| ¥y 2T7HF v - 4 2 55 1(5_5)4 11-12-12-7 | 37.6 | 85.5 | 1 (5+362) ﬁg;}@ﬁ
G147 RT—IEY BN b (B) #B3—-FKL—->ya3>AqE77
< =5 o2 | ERH 1:55.5 15-15-13-7 | 37.7 | 84.7 | 2 506 | AtESH (ER)
] 7 AZXHhTF LY 55.0 (1/2) 8) KHERX
IR FLy B:wFIKR pul e}
5 B 4 o2 | RHABE 1:56.1 6-6-6-5 |39.0| 79.8 | 4 494 | KIEBEAN (EBR)
37|14l ¥/ > 5.0 3 1/2) © | W 7rEan
XS BA-ILT7AXxv 1127 INHISH T 7 — L
- § PN : -14-13- HEFE (EX)
S 454 H— o2 S (11.5:?/.;1) 14-14-13-13| 38.6 | 77.2 | 5 (4;2) S
RTVHARIL R B RF AT v— =Eiie
N JNBfE= :57. ~4-3- . . #ILEA (EX)
*oLTI— #o2 s (13517/20) 4-4-3-2 | 40.2| 72.9 | 1 ?8;1 e g
L:IET7xA47 BiLAFFT7TIUN EEFIL At
3 BEEEX :57. 55 . . BORAIE (EX)
X4 a9F14TF 28 (12517/5 YIS 4041 0981 8 f_g HAARAF I
Rix4yavR—3— BixLYay71UZ = e
ST 4 2 | FIEEZ 1:57.7 7-6-7-10 |40.2| 67.2 | 10 | 486 |M&HEM (EXR)
2 —=TI—"J 55.0 (1 3/4) o) |FHEE (1)
RN—5—-2y 7 B:X-~NF3 T HiE
> # o2 | BA#ET 1:57.7 7-9-10-10 [ 40.0 | 67.0 | 13 | 522 |ALHARA (EX)
Ny 7pR—KL 5.0 () o | @ 7995771
L:G4 7 RT—EY B:TUUS 7975 TT—L4
RN R :57. -9-7- . . ZHET (ER)
HALLL TR "2 TR K7/ A el Rl B B E e
LIET773x47 B:EYvyUD NYENTT—L
A VTS 42 | AKX 1:58.0 2-2-2-2 | 41.4| 66.0 | 3 494 | HEFFE (RR)
1018/16| 7> F—3 /¥R 55.0 (1" 1/4) (o) | HEERL
L:707% BFAI-Fv KEHE
. = RSz : “11-11- EallER (%)
il 238759 7en i o2 a2l 1(.15/82.>l 11-11-11-10{ 40.4 | 64.2 | 7 (4_728) allEs |
R:hL>TZy el B:FT4—L [alisbie]
: . 4 2 | DIEEFEK 1:58.5 3-2-3-2 | 41.8| 62.6 | 15 440 | RERBK (ER)
12/ 8 /15| KV =4/ vy b 54.0 2 1/2) (+6) NBiEZ
L:€r/0704 BiELT7IU-> BEF %M
i PP o2 | BRERS 1:58.7 1-1-1-1 | 42.1| 61.5| 6 510 | SHE— (EH)
1317113 4G 1 >4— bt [B] 55.0 (1 1/4) (-6) HERD
R:d—IR7Ya2—)b B:LTFqF7FY2 ISFA% 5
14 4| ETFEAANIT> [B] 42 ﬁﬁi%ﬂiﬁ 1:(559).6 11-12-15-15| 41.5 | 53.9 | 12 (5_122) igg; (ER)
L:7A7% BiAAXX1i—FT1— pailz:be )
K o2 | JIERE 1:59.7 7-6-7-13 | 42.1| 54.0 | 14 400 | BEHEB— (ER)
1511 2| *T1T>¥av 7Ly b 55.0 (1/2) (-a) | BAATRE
R:AAagyLvy B:A4Yavary =it
s 2 | EHEZ — - — — — — |EBERE (EXR)
w3V —2—TaAd # 55.0 (BGE) ) i)
Rig4—2—0—-9 B:o+—42-T7UIIL iStie]
@ 71 L
) 51.8-38.8
NA>24 L | 13.0-11.0-13.4-13.0-13.2-13.0-12.8-12.7-13.3
@ 1 — S —&EBlIEf
13=3F= 13,16,15,9,8,14(2,6,11,12)-(1,4,10)5-7 3
2 == 13(16,15)9,8(2,6,14) (11,12)1(4,10)5-7 3
Gal=7r= 13,16(15,9)8,14(2,6,11)12,1,10(5,7)4 3
43—F— (x13,16,15,9) (8,14) (10,7)11(6,1,12) (2,5)-4 3
[ N3
BB 10 290H 714K 7-10 380M e E 4-5 760M JEHE 7-10-14 1,710
18 B 10 130M9 10-14 320M B = 7-10 1,010 K31 10-7-14 7,060
7 160/ 7-14 600 B H 10-7 1,900
14 170

ABRICOVTHRTEEERROODE, THEB LS,




